Qaip

] en(es
S 8 i jgol ouuwbo

1 & losls 02 598>

[ 19 Jlw —5g.iS (5laoBinls (539 59 (5wl g0 )T ]

wo90c (ygo T
225 Pgle Hulo JT 6g S

e T | e
Camn ) e )0 ) v ) (e
e
(s J(w ) o J(_re ) oman)
(e ) ) (w ) v ) (ot
[ 08485 VO 2953wl ino ]( loo :a.UIgmdSMm/




-

w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

BN M @i By 8 ey

Flawl Cawyo (Ko Lojlg 31 09,5 90 plas Szo -

CoMe2 1odas BY —«ag 0 1Y (& «eudg ) 1 oiloy —Koud < po (Gg0 toudly (sg0» (I
€S Cawgy 1Y <yl 1 b (o « 2 bdgy (Lud» —«uugl :dy 2> (&
s-gz (F s-o (Y c-< o -

€l Cans y3 (05l Az o —¥

1ol y) (L35 1K) (ou=iS celbl i glan) (40,5 dud ye 1aud jlro) (Heomiy 1 dule) (00l (3840 131 1) ((Guid)) 1&0) (405 Cyuad 12 y8)
(03955 :J0) (e aoldl :ukw) (Lwyl slw

& (F ol (Y ca (Y o (1
il o Ko Waojly 3l 09,5 plas Y
(s B g (533) (> 3 ) (5,5 9 548) (¥ (51 1 3 ) (3920 3 b3ad) (13l 3 Ceol ) (O
(oloud g o2 30) (4205 g 05 3) (©laleo g y58) (F (oo 9 s900) (bluwsl g (LA (o g y30) (V
€l oMol Lol 43U e plas —F
Pl o (il § 0y 3l oy L P g (3t 2 48 il o 5 ()
S (9o lg—b (g0 ,5o 39— gLS S d—ils (5 pg—Mlio 5 WL (Y
Sl (g0 dzy 51 5 5 ol 51 Sl g3 w—wlilds J— 511, a5 (¥
ot (I ay Lo col b 5 o S g Ably ot IS amy Lo (F
Saillale oMol 5 3 Lolad Waojls plas ¢y 5 bl 53 -0
S9mt Jbls dmnd ailiies g Jble amon p5 P Amiliins (g gy Ay bl s
Sg— J8& (IS euTlolg g aib, 41318 Gl S5 (2 Gla—e 9 39— IS S5
Sg= J= b ol gl 9 (0 (oS 4 S (2l g 5l AS dg Aot (0
s9mt ol ool Lty o il Sz 4 Pl 5 G gtadind Ly & e T 3 of
s ~algiag oy (F JaT-dilo - oy (F Jble - o gz (¥ JorT —Jble - gy O

?Aﬁ)lﬂ plas B cui «‘oli.';.ﬂ — % Hawgo —Q,J.éﬂ —M‘élh.o» ulf.»,,T.».» -5

olew H59) — (09 3 3 092 31 ~asbialls ;3T — (g 5ol kit (1

Bozo oyl i — G105y 039 32 —Liwgl ol 51 - bl &l s (Y

Gl JEBL - e Bgr - (4l p0 sl SoeF bl j vl LS (Y

o )l pl g Gl = (o )18 2l 53 JUS jg0 - Lo Yl - Slog & ,U (F

Tl 0uls )53 Cawyo oi de.ﬁ)gi.x.l.x; @ ylws olul-Y

03) (N a1 pmalg) (s 02 35Lillolin o) (5 s ool G5l 1) (Lile S 552135 il 295 (il s g 39)
(GUC 3 PV XU WPV BRVESL [ I JUW))) (deb & e

o (F sz (Y aw (Y 90 ()
Sl Cpgliin — jgiin — pgkiiuo? i 7 41 )T plas —A

1295 ot (58 ~ S cadid (Y Ll - LY - i )

ool o it — 5 ygpangyl il — Laallilas (F Cangls W39, s ldle b aly aly (¥
ClplaS 15 o sloay ], -4

sl 03,5 lanlns o i (2 yesd 1y 30 Sty it g4l 3l e 300,
PU b — Ul (> — i —agLiS (¥ 3xo — 2L — (g 3l i —asLiS ()
Jods cpun — alolre o glun! — gaals —o ylacias! (F Asleo Gabul — jlxe — g juol o — o lasiawl (¥

§0,10 2929 dniid’ Wiz 1§ (Goghiio yo Ve

L gails y2 )0 a5 (SOl (nl ol gl LnS [ (595 D1 51 3 d Conml (b33 y2d 32 150 [ gt oS (0 SO 35 Sl (g0L 55 B 2 (o2
C ot gie Hwl o [l (395 (GamlS oyl T po | oml
e (F ey (F Sz (¥ aww (1




§Cawl ‘AMS «d'a.‘él.'ﬁ ) aJoleo s._:sl.w‘ @ ls 5J.~lx R 5&&»»[.15 ‘ALQJJ» ‘slhd.g.bi o.'i.&‘é bl 4 ol é'}’ [ pt) -1

W)l S 4 o 95 (595 4 o2 oS
Omo slan (G008 (i 9B Dlgt Iy el
Gl 55 )12 pledmw 6l ¢ ez WilS S
Ay (3] 5SS W oy ay St 9 0
O S B (e Kilg90 § Jih Ao

w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

o= poli—w o0 S Cawyo Jl".""fd“—)" (!
Oyt (Gt N Az 35 ¢ o iy gaiis (o
3929 £ 40 CwgSigs J—s (ylyl50 v (Z
Sl Bl By o ST Sl (o
Sl gmi o Jlo (gmS Sl il 4y 2

o-——-g-Al-s(f 2-dl-o-s-z (¥ - -l-s-z (Y 2-o-dl-z-o(
Sl (F32 iz ) @ylas o0 ke 1Y
oS gl i (1) 50 9 ol AL Lo (2g) Gld 9 (Able sojg (IO S Bl I gl pad LY g0 (Sl 1dS Wby
€l ailold G, pdss o (5y9 9 I o (] Ar g ouy
Jgxio s (S5 (¥ s b 2
feawbasy pjoyle 58 ol 09,5 (1mogd Gaimd sbagly slaxi —IY

Camlo Jo iy lud 97 lowoT slodnds L> and 31,8 9 iy (sWoly 0595 10 (3153 9 390 yiw cpl O

Jorio g o b (J32lex (F Jgrio g poo b (G325l (F

4 (F ol (Y can (Y o ()
93,10 31950 vy «Cawl g0 by (Fuwgo Co gl j0 9 WS 0 Sl dilado b Jluws g by ASCH J2l jo slxo g gs.’."‘i M» Oyle -VF
awg o (F ez 9 o (¥ 9w (¥ o g o ()

90,105 0929 (i i (S plUS 0 -0

G2 LS i 39— A iS ST s
SIS Ol (5§92 92 4 v, 1) 95
oo il Ils and 45 (oo gy 4
618 Hlmo 30 Cmd (i (i L as

(T

Flaw! €Ll - diljg ) — (5 5 o — bl Jolro Cud i baojlg 31 09,5 plus lossluw —VF

235 —ailo 2o — 5,5 £ — il (¥
s — il — g ST — )b (P

215 a3l S S

Cwlo (500 ym (o=t (G028 Lo (G00msd (500,

Sl s WLLS fug 0y 9,5 o= Juw
Cwlod aLd 095 yud 3l &) 0l 5 a5 »

(S Syt 9 S5yl |, L)
(o= Gogols 1y ol &l Mol aily 4)
(o Syb |y b § )b cle)
(ot o 455 33 9 53550 9l 3l lgol By g A L)

Gol— ) =K jm i s ST g0
S8 (=S o gglb o 4 g, o (F
Congl Cods gl dx Jo (298 &5 o (o (F

S0 =il o — 65 g - plo 3L (0
1959 32 — a3 S — (5 ,Slg> — pglaoli (F

Flaw! wglaso «lal plw b Cas plos pgodo -1V

093 S b Sl 4 5 STl ()
Sl ymias 1) 395 a3l (ul 50 3,5 o5 &5 2 (F

Flml Loyl «yles plUS' (595429 potdo 9 (Sxo —VA

A 09 A S A s 1y L PR o ()

O

o 00— el o 1, El—= (¥
J> 50 39—y J—ole &y do a3 (¥
= 4= 3B 53 9 Gl 3l gl 50 yoban g 25 4 (F

90415 (o9 ewlid aw plaS L 15 (gaogliin —1]

Slms Ly j a5 WS o0 &5 (S0 W

€95 o0 S Sy ©gli jo atis SCol slw (499 ,5 4y sbrogao 31 liwls

Cdp Ol Wy a4 S (ol B g
S Sl el j0 a4y jne 590 9
61— 9 (659] s A S ol a5
)0 0 Il S gu—as

A0l Wl g o Liz g o2 los oS

b S |y (o i 9
St yK2r (g g Srlg 29— (5]
23 0 pilol A ile) (GO
K (YUK SO NP WPRU G| P S9N N [P OU"

= a9 ol e g s Sl &L ()
09 olygw Sto (! ailo 4z (Y
e o=l GBS am by g v g S (Y

POl culog § 4 reSas 93 (om0 5 & (F

9§15 Cuwlid oy oIS b 35 o pgkeo — Ve

3 et 9 yms] (500 Fmb (ymb A 9y ] RTL

i lo b (0 o b a5 15,5 ()
o pldo 3 39— Jad S u—u 65 (¥
s e s n s s s R (F
310 (3 yimnd g S5 Sy 1y gyl y a5 T (F




w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

90,10 (09880 Cawlid €S o0 S B g ol 31 pyld Camwgar WHle b o plas’ -TY

- il ul ",~3 Wil o 2,";)“, )| < 0
Sl ot gt Lo pt jg dteS Sl
ol il g J 0 30 59, L
H S s Js!

A

ol o o ol 3] S84

290 it a9 (53] Ay S 5 S
Sl sy i Sl a plaiy ) LS
Sl oy J—ol5 g5 0929 Gog—ro L5

)'ls ;|J,l 5 ol QS‘S.‘ “35 5

Jb— e il e (o & e
P (o (0 4 i Aoy ) (] (S
oo g Wye—o Lo 3=
S Gy iy Al LS

Wb & a5 Lol ¢ > ()

Clild s § g gt 3> 5l 4T (G (V
oo Lo a0y F—ite = oS J5l ylad—us (Y

Flawl wylio ;500 Wlol b Gy plaS pogio —

Sl Aty i [y 9T 09— 9 295 LS5 ()
Wyl 50 S g uullij95 g 4o g 3l g I (V
plod ot S5 Ko 0 abgd oe S (¥
sl 08 35 Sl y95 S5 (3 (30w o (F

Yy

Fogu o0 Cadly yo Caw plas 31y § Cow potedo TV

S Gog—d (gm0 9 (ot 9B T

Il 00 ,—F  —F 30— (ga—Til> ()
oo 08 0 o9l Lo o i a4 (Y
O ygmio 350 Sl 9B O g o &S 2 (T
Gl @ yud (dB 0 G 97 0 (p0 0,5 (F

90,5105 cawlls «pilid g8» sdogliin A pobdo b cow plus -YF

Slgms (Ple—s g jied 4 iSO (29—s
8 S (5939 3t 8 ol s 510y
gl 0 ol g 0l (10 o oy 3—d
CamBty 31 0 o (9 ;) ST g0yl 4

(Ld36) dsz p0 0 Con—o jl 45 09— (—wld

(G 31y o G8) (xS Sy, S aplg5 29 T050 o
(Fe (G Jozx) (Fmmnd 395 i )0 (b (=2li Sl Jomw
(S5 o A) Cmnl 595 (95w )Lk § (gl (id 5

S 0t ) i 51 3 5ol ()
Sy 5 59— 13 4—t Ol S 5 (¥
Cwgd oly o a8 Sl a5 o (Y
B 5 d by a1 (F

Ol )l il 50 99— 51 )5 (= J5 ()
e At s 310 31y 9o T (9350 50 (¥
aplezs ol i S5 0al ol 4zl 4 (F
Iy cdmw oy W S o (Sl = (F

A dd S0 Gl gaed 59549) (2 US pordo —TO

H R T

el

(Y8 —¥Y) poriadl gl cu pdl gl dos il Olgadl (S 30V g oY yac N

09,5 3 i) ol JGaYI dll i -YF
1 S iy L Xy 0 por le g 4l (\
[KEPW) aiio 45 35 «Cawl 03 PO, Slp (Lo 5glas (¥

gl yoTaly 5L Aijee 1) i p3 0 (s 4l (Y
135 65 O e 45 2Bl ol 03 (i p3 10 5l 1 Sglas (F
g3 e 9 Blnll sl 313 435 a3 Sligas e uo 3D -YY
oal osdir [ (5255 (105 9 (o2 e Lot sl 03,5 500 515395 (Slasishw 2 45 oS ()
I 0 OT (2 paid 9 (Pl Dbl 51 2356 A Jooi S ST (5355 s slgds (¥
Il ospidr ) O (G paid 9 S @ s9b 43 03559 (2SS 335 Slasslpbs »2 guS o (
laas 7,5 41 2 leSh J 59, Slaisuw pl 95 45 by S 1) S A5 &0 9 o (F
aids § by bio dwities Of lake Comy 03] 39450 y3baddl 55U 5 Ol Slolod 3> Slia ua> ~YA
oS 030zl LOT 31 B3 Ghos b &5 Cansl azrly Lo s ol oy 313 539300 @lio 45" Causl (Ao 53 ol 5 35,15 32 il sk (1
a3 15 030kl 390 1) LOT gamao slaghiss 23 o 2l b camsl 393520 ol olio ASW> 53 Cann Ol S35 (5152 (5550 9 4> (¥
a3 51,5 03Uikusl 3558 1y golia ol astiio gy s 45 ol 38 Lo s 3900 @slin 3529 b 9 cansl 5 pa 9 32 (il olrl (¥
osiS 03l BOT 31 iid> Slagsbes b 4 Cansle s 13 sl S9ame gilin aSllo 3 3,15 3929 S Ol slals sl (F




w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

g der a1 Lol B3l Auyae J] Al e 5 G -Y4
'P.g.).&m.lﬁﬂ)lyﬂ 1, wa).)dsr,._ﬂb.);ﬁu»lsi)é 6'“‘?;&@&“63;%90‘(\
(VXY Uﬁb}’aTLn Q,S)l |) l-muu).) ASP.Q'.-«A)ALO ‘sw;.)-o J.LA)L:.’ P-_’_Lb@»)\imhg o Y
Loz isales of 51 05L95 Ly ugso U pablyoe 33l wyde glizms wiliasgs 5 oo (¥
Lo s 5l Lo 4 153 1) Olagla g0 B o siols jale alas a5 wlis) 5 oy (F
gl pue Y
15,05 &S Jie 5 jum 50 3l b 08 ] Jaedl e byaidll seiadd s JS S ()
Loz 9T (g0 3 41 1 BOT oS 5 ailaesn 1y Bjur Sl Al b 15,513 (3 Camad ST 5 oY1y 1S ol (¥
Ieuils dialys OLESINS) 5 i 55 Silsld a eslyils 4055 g ISl Wil &5 B 5,350 5,m¥ O (¥
:potiall cani¥l e dag] Ol ST Ciler -1

Lot A iy S —5 90— S L Olg 03,5 4z S 53— ()
el Gl s ) OT s Oy A—bl o5 Cugd ol (Y
!r’ﬁq@)o.)._is‘_g)l_ﬂ),_? (ST )9 95 9 :0T).>|, s (Y
59 K 9 315 39—5 Ulps 45 Ol 56 sl a—)ls S5 |, Ola—s (F

gumall (e AiS ood 1oy it OF plasil 5 36 4T 4 1 01, s @lo ol ,SKimpai> Y'Y
lagle 536 Cand yols 2,5 I ol Slionodl Sloeslll g5 ¥ (A
e 09,380 3 Loy 02,531 ol 5 simell iyl 1 (¥
laold le 1530 Ty Lo e oy ,5 1 Slullall Sllislgll Joons ¥ (¥
lay pLall e 09,03 lads (2,591 Oslasms ¥ guodlall (ool ] (F
«Wps ;S B 15 OF o G 03 o opo 03,5 B> | 6408 51 Cay duw piawrgd pdys (B> - Y'Y
Illiol 3 pine Bisl SIS G s po Olol BW By o) aali LI (A
Hltial 5 e o LT UT ey Sl 2536 biiond iy S0l (Y
Melial 5 e i LT BT 3ol po bl &5 i 43 ss:i,:;“gi ol bodie (¥
Moo 5 pie L Lyl 980 cbcaidl moﬂotﬁiamwb.\ssﬁiwwﬁ Loin> (F
ol sy Loy (FY-PF) Aias¥l e ozl 15 By JEII il 7,51 mm
@t OF OLudYl 5585 48 SUSS 9 il 9 DLyl iy o 9 201 Cilas e o) e oY 0:Bn0l GLui¥l Sy ol Syl

nlaall 030 yius ol pae O] Cus s 1o Caplan 55V G2l ue OF oy oSy Moy 9 Aoy 9 030 s 9 85
o lasgee e Goall slay o domiils
Llened WLidl 5o all pos ¥ (i osall lizorl J) i U368 lgiked Sl o ol e dusy y (49 5l e Gl
1055 g s Loy O 5y o 4 0 5 Ll 5 sl Uy
9 Cm3B 151 Ml 03 LBV i 9 Ll 2o e Lol 335 T Lo By 9 5 prio JS e uall &0 815 0 5
Y a5 g DS g sl I o LY ST vy Lo el

Ll JI Jgosll oliie 3Lis] 5 padlsdl oMel puuar o ~VF

a2 ¥ oo Il s OF 05,0 ¥ 9 il i oo (¥ Vimaomas Blls LelS” Wleel O U 0 gios ol cpu (1

YT i 5 Ll 30! e Ll ] G 15] (F Lot ¥51 5 clae¥l Olud e GaBlsill 03a Cazr 5 15] (¥
qusall ae —YO

1Azl =l s 2BasYl oY1 ez Y (Y 1gall suslie Z3o] sanll Slerly e ()

132 35all 3aelus oo ST Ol Y1 Gaans o sleadl Bl (F Baall Slizly oo A1 OF LS Gl Slirly oo gl (¥




\

9 Jlw (§ gwl o (90 )T

............... 98 adll Ol liziwl oo :lasdl e -¥§
1S53 J] derlory I Lasls Aol dunisi cpo @,., Y ol oLl e o &1 (A
1 iod| iS5 5 Slidl Julis Lirl 1pus S Bl s O bt ¥ &5 (¥
iy 9 ks o b (I B pg o iz 9 Ludblys oy sy po OF (¥

sl pogied cwliall oas Y'Y

e 5 By 3o ¥ gs BTy G0l O] (¥ 1635 g pais o O 5 pand pidns el ol (1
liakiall 5 domall JI 635 ¥ 5330 Lig paall Gy bl (F 1t b Of (3 o Tl oo ¥ O el s (¥

(¥R 5 ¥A) Jusall 5 Uil pic @
landy g Aol 9 0AED o 9 0948 (o 2 O OLusYl Spa5 A5» —FA

2
. —

wae _

B -phe 008 (F (oaitg —ooad —oludyl (¥ B3 -~ (Y 9e ~ Ol -355 (4
e 5 ) Alsnsg lazmad WLidL 5l pois ¥ o ogaall Gl J] Sbudi> ¥4

o - pgaall -l (F Wlid] 500l —pss (¥ 5 hlll - Jams —oL20] (Y Jaom 50801 gl ()
‘ ’ ‘ (ff-ﬁ)g,:audgaﬁl,q,;;u;é,ulo;;-
) . «oga» —F+

uked Aloonll 5 €OLusD alels 5 Jab /(Jad5 S pe) S 2 30 Sl - Lo (3

€Ol alels /(Ude] 0gas) Szl 9 Jiae —(Jaais Ol p0) SW 2250 - (Y

COLsID LAl ¥l Alels 5 Jab /o yno - polacll oo ~Dy=rl 9 Jino - JW 250 (¥

daad Alozell g €OLYD alels / gira —polacll s Dyl 9 Jino -5l - g Lo Jab (F
) “ < pamd» —F\

Aukad Alosnll 5 Coar Alels /0 pe — polaoll Jion —haita - I 320 AL ()

Baleb Aol 5 o3 aleld LU 5 g9b o Jab /o0 pme ~Ugemeld (gine = SN 5y (¥

el €2 raids Aleld /polaall (Jiun —(Jai5 Db (o) (SN 350 -ASLM - 5 Le (¥

nedl €0 yrosds Alelb 5 £55 0 Jab /0 pmn —Shmia = SN 3,500 A5G - g )lire Jab (F
" gy ,o» —FY

E90 0 9 3 k0 3 [8,55 ~(y0 4> 10y dura) Aguins diuos 9 s ()

£950 9 15 /3 5all (o ggimn — 0 yra =5,55 —Ea 3 ke — sl (¥

€Cae? 05 X0 9 £98 50 9 3 40 a3 [ D putrin =0 p20 =8 55 - ifa 3 jhe (¥

«peer ol ol g guain 9 Jl> /om0 =3 S5~ dgaiin B 9 e (F
H(PY —0+) AW Al e Olgol) cawlindl (yic WM
las ol 5 cuaill 5 @5, B> ypoud oyie —FY

150,51 5, 30 U5 pael iy e I G 5o (Y lel puasdl Gylonl oy (5 Lol e L (1
Iitiy a> (G5 ol ol 153,59 U o (F ot dize pleall Lansmy (i ity a3 LiS” (¥
PN [ o b Jots 9 Lilud ole 3ol ZalS oo Ol el yill il e —FF
Lo -, (F L - (F Uage - 2 (Y b - (A
‘ b Jyniall iz —FD
1S ol Loy a5 ¥ g (Y Tl 56 L e 0305 Y ()
I Kaiy 98 5 S pudty G OF opki5 9 (F Y g Kaity B Of 585 25 Y (¥
B3l JLsY pls>T (b Uil e -5
lo 35" YT Og8pie diolell pellosl USs slalall OIS™ (Y IG315 adl s of auded odue le Glin 4 I owd (A

1 531 M1 e 2 4500 5 cpamol Igals Lo g0 3o slacHl (Flanul 301 Al Ush whao (55 yasle SpodEl Y50 geauas of (¥




w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

s Jaall s e -FY
e Gudlis gl i (3 Oliseldl Candls (Y 1 wg Al o Oliweldl 2Y5a ublis” Lbls aals Lo (A
ity aled Ddly Gles] kel el pail 45 (F )5S OIS o) 5 Golail olus¥l Sle bl pusl 3 (¥
ol ie —FA
Wgall o il i Lodie (¥ U Gans s LS Byseo ud Sgall (A
Ikisy (531 giionll 95l 9a 13 5 (F Bl JSUin plaf L5545 i (¥
gliedl B sl e -F4
tebooall Ll lso Y arozr b o5 selud O le (¥ 1655 i i gl S @TE, 6O
lokall b b 35 Laiol olall I3 (F Lobsll dowe ol of oSl Tl L (¥
’ ol b ks itodl 2 -0«
ol 1348 ¥ sl pgy e I oty ol (¥ Lasdl Y] u;s,ﬁa;&l i o) (A
e Ladl 130 Y1 5 08 Aol JI glsddl JS it (F Ty soell Y1 Sgiall palizr e Ygal ;s,§| Sy (¥

aByss |V z(5slgiihyy 189 :333) § (IS

S ries0 0 e 4 3 (ST IS 51 Cons ) sty & (o) sl 9 o Bls 9 Blaz gl B Shol (g Jlgus 51 S5 -0
(ool WU T3 3 ) 20t (3015 lplelad il B2 —ConiS o (S35 iler 4igSz 55 Lo 0
Comroald WU TS 3 () 53l ol 5 il il 515) ~Spalonel 92ge 4z (s1n Lo (¥
Cuad s 5 o 5 3 il 4y Al 4 0,1 (08 1 5 il 3 G all i) — S oo (S5 Slar 489z 50 Lo (F
Cuod 5 3 5 e 9 5 il 4 5 SR W (231 (o3 16 § lgleldl o3 G all 7iud) ~Spalonl 9 9ar a sl Lo (F
Tl anlgs ol (Fuij 50 (a5l 4z ouslic (5 €010 gl (sgm 4 35 9 Cowlas 1 ez &5 ol (1l S5l s 3 1T oS oy —OY
59l i 5T s 35 oicymand ol g otdl o5 31 3558 sl (s Sk JorT 5 2l V1 s G 5 (ol 5 el GRS G) O
’ RPCRVATE Y
ooy 50 ye—ao Solual g0l anlgss caws I Slwl a1y yoe —€... S J.>| 3 d-"-‘b Y1 Gdis by Lohling kil Gils G) (v
’ Syle 1y !
i 33T LS 53 oo rmes vl 9 ol 5 31 35 38 ol ~rmal 4] 5 557555 8 W555% 5 Bl Lol 5 olgladal 35 (v
2,5 aalgis 5l
33 s9miir (ST 5 313wl cmnd 3 Gl @ 1y yos ~Craadll ] 5 57580 B 15550 5 a3l Lo)l1 5 whidl GIB) (F
Syl 1y ol ol
NOWPINCHN VR PRV PRSIV (T1E T3 SN PRS- SR ) JPYVISRPPR BV Y
Sy obl SIOLT oisT Sl i 53— pan 3¢ )
s 3050 158 SISUT Jlos ki 31 ey laod Jlus i — yao 336 (¥
) (5B 95 (§390 4 395 il s — ol Sy 90 31 (S (Y
Dol o0 Attty gl 410 4 59 b 3l am - plger (Sl 99 31 (S (F
Cabligo S o 50,3100 S5 pIS cinogi 50 (o gy 2 B 5 L § gh LEWI 565 U] (o o) sk p s -0F
S 0 03T T (gl 1y 995 (3l a8 51 yieg 9 WIS o Ol 4y ylgly3 s o GT ()
D9 (o0 Ay Sy §i8O (30 50 (Fj (T 3l (Sl p2 g Cenl (S5 pbl S e (Y
5115 Gt 33 FoLi 3 (ol 4 Wil o195 1y o ASL iy ond (T3 585 Gl 1 S e (F
Ll Gl ol Cawd jl Glowe (Faiy (51590 oS oo WMo 1) (1 031 55 0 S o 31 a5 Jb lod jo 0ol (F
b 5l (gl 4 Elo 05558 0950 Whoo et LT 51 55 S po 3l ant (p03e &5 ol oz (i 1Widg0 3 45 JBY Golo plol Cuus (l -08
315 ol 4k 5T P15 b € g a1y 5T 53 5 g 5503 3 05 o 45 (Sloykhnsy g 3 - 35 5k
(o> Gy (53 g G5D) (¥ (s L (1368 0
(2575 G Tl ot o i) &) (F G319 908 Gy s i 2 (v




w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

£3,% 0 pyteho cullao plus €501 G5 3 sk Lo (ool1 all ondl) gy o siT 5105
s 55 Casly Lo o 1y ilony (39 camslis o guato s Lins ()
15 3158 cymny Eg 1y Lo e canmlis pguasin (siu L (¥
bl oo jadlwy plle )0 (oo (6,135 il (F
Wdles E3 2 ple 5o OB )l ol (F
Tlawl wiglasd ay lus!  28lg Cuzxo HUT )5 lo w)lc plas' -0V
SV 3 S g (lbeaiin jl 599 b ol pod (SibdSog5 3l g ,Lul ()
ol 5 4gS o 3 (5390 5 Wights &y o las 1 Jo (sLad (yoge5 ouisT (Y
Wiglas Glglie (oo 4 Cuzmo jlpl g (Suidd g 4aF 4365 2 51 JO (o903 JIS (¥
102 Glionsd &) G (os (a9 585 g G OIS & Gl 1 plle (30905 3, (F
Tascwmd 10 o (oo olxo 3l 09,5 plas —OA

Plg5 — g oy - (3350 —S 55250k - e (¥ o yplgS A - 550 - ug e - 0k ()
gos JiS0 -3l y o - 0l -5yl —ples (F yole alld —y0y (saos — 330 Glrogi 552500 — yalgs (F
03 395 LT 9 S 52 5 Wl Cawd & (a0 5955 ST B2y 31 52 >t gi g0 il Slo 4 4sl o Y8 e @ pam -84
LS :..\.;5 b 1y o
5k B 1y 5y g 3Ly T byl —olS' (Y 05 B 1y 5y 3 3l Ty B el —slillo ()
WS 0Ly 1y axols 0 g2 g0 LALLM -l (F WS 0k 5 1y axols j0 g2 g0 (SLALCS g S -l (Y

ol plas oo y93 (sand 53 golsar sojls g Lalgm gewly <8l )3 gl (2 B)las 5l (Goioo s by -5+
o (6 754z 9 (315 ST i 3 02 5 b T Gl 9 (00 ledle ;5 JolS' (a2 )
e S50 sLaw p Jos g OLT I glite 9 95UgS cublo 4y p3Y dxgi g (318 4y axarl o (Y
Ghio 9 Jie Glow » Gz (09 53 S 1a> €80 g ados gadllu) Gl 2 wuar laol) (Sl (F
S @ a9 Gl lus 2 Jos g oo (g (28 planasiie aliwgds & Guiizd ool (b9 3l eslisw! (F
................ B335 v 45 35 o0 Olom| G oMl ol 5 yroly €G oo ¥ g» —5)
e g2 o> 4 Sl g yodB o 5 - Cilo (oDl (garoler MMl ()
o g2yt 4 Sl 9 pod8 o 5 50— Boloo 4 FIL (Aand alawly GLau! (Y
wNiloy Sguns ((IIy (sadab g9 ofy —Ciluo oMl (garols ! (V
Wloy Sguumno (S gl £95 2 ol —Galoio 41 BIS (b gabawly (yLital (F
(1 53) Gl g 0 J30 G o5 pmoly 1 (Siloj 4z 5o €i 01 35 1o Ul ol gdae 5 15T (o 1 ) (g o T -7
s Jlus ax
Y0 e ©pan oy —0,5 o0 LT pdul Cidis b1y Clol las gails LS j0 Gl 1ol (55 ()
o lalas 540 5,5 oo LT Sl i b [y olomao! a5 5 ,US 5o Gz by 5g (V
oL e © pdo g —390 550 5 5kadl bl ol (sl 1y 3B She @ pdo Slogl GEE oLy 3 (7
o bilokuns a0 —090 58 5o (g ybail dilowe (1 plr (sl 1) JBL e @ i Slogl G puoly (B (F
fls plol Floladl dz oMl & ylao iy y25 (gl wlas St § dnel st oS> —$Y
0235 013 Sl 2 CuogSo 1o 5 PAL a0l b5 0 (o295 o2 ()
Sgr o0 03y ol 5o B anil pb a5 ol P BT 4 (42 g 2 9 o B R 2 (Y
oMl B jlao g T 13 ST auled 9 puanndi (510 SIS Sl lodle 31 osbiiu! (¥
Al dalol ules S (50590 Ll U a5yl CulisS’ gao 9 cudlol ridgi 3l (g S ol (F
Sl 5530 IS (o ladar] SMSno 3 (F9élb laST o 3 yliladuno (218 ol BAL pauaro lobol slEsd 43 4z gi b —5F
595 Jbo g ol Sl b (o T 4 (i 2T g 00 50 (ABT g s ()
Ol 50w dule sl g ounlomo pg ) p1 anSS o))l oy (glro gy oLl (Y
Pl Glaisd il 50 (Jorod g Sl (635 p waST g RSy b (6 50095 (¥
lereds ol Bk 3 wbly 415 1y copusl 81> 4 03 yluo (611 nl (so3b ST (F
flawlione a2 a4 aoid B o K yd yo « b —£8
) s © i 4y lisel 5 Glozr 9 995 4 (sl Caro o5 ()
@) Gt © pio 4y oline! g g )b gouiaT & (23 Cuke ol (¥
Ol (Gl CongSo 4 oliiel g g, o] 4 (393 Cake oS5 (Y
s (5l CangSi 43 Slise! 5 e 9 395 & (sl ko oSS (F




w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

bl A1 Aiiles so iail 4z oS 4y GGl 55 (yludl 395 9 (9 GONT Sy 25 Jolge — 55
Sl [y oLS ol y lglolas i 3o 4y dzgi byl ludl g widud 5 030 (Jg e Jolge ()
sled Conglio (5T ol 50 Wilgd (ood (G95 (y9s 058 45 Wy g0 LT B il 33 95 (s 30 (g Jolge (¥
B0 Bgw oL (g |5 (59 9 Wiy (o0 Cawdty |y (Ll J S0S (S puw (g (B po b (g Jolge (V
el (gl 395 (390 50 SUS ST 30 5 0 35 (o0 ol AT S (3] g Akand luwdicnny bald (i Jolge (P
U2 5 Ll 19635 Lol o3 (oo o850 15 o 16T (0 9 s b 5T 31 9 ol 3590 plaS 00lgils JuSits Sud o0 5 Jle —5Y
(39 g0 il 35 patio plas (Bas) 5 5350 W30
) ey 3 g0 3 (512 330 9 (33 (39390 ey bl — ot b (9 il 3 eyl 4 5L ()
) ooy 3 090 3 (Gl 330 9 (33 (5950 ely] b —Las! I G 5 (gire 3 (IS s, (Y
ol 950 9 (53 (H938 Uioly] wlas| oz 5 g WBg0 Jlwrdine ) — ot b (> 95 (il g el )T 4 5L (¥
el 330 9 (55 (950 Goly wlus] oy 9 g0 jludinn —Last 51 G 1 Ggame 9 (SUST ) (F
............... POl oYl pladl coons B2 1idg0 ,8 a5 G Ml ool )5 poly &S (5w & a2 g5 L-FA
S GLBGIN} 3 i 1) 995 o g 0 BT B adlo pr lyolo b 31 1y Ghlee (aeli (saiubig ()
iy oo bLES 3 goLh Al Lo 4y Gl gs 9929 sloyS b g Wiloon Sy il 1 50k (Y
Sl &yl 00195 Sino 31 g yleant SIS 32 b B 03 s 315000 4y 1y AL SIS yuai g Sy ke (V
el 0315 51,8 5l y0lo (93 2 1) (a8 )0 s aiuny NS g Lo gie aasly (6 1S Sl (F
iz 53 Lagbonit o5 5 € 35D oy ok 0 5 S (3 55 18] (5 ol § a1 (3 n5 50 ol 38D s 15 sl & amgi L -7
H B Caiilgs oo disS [y Wglas LK oyl 40 g Wbl 0 105 3L &1 Suxgo
6133 Eri b —digdin sz gl 5lz0 § WS oo s Bl 50 0 (LS L ()
ouic (pald b —wigl oo guuad ligh Hls g WS (oo yhw Ly 5 (LS L (Y
62139 Erd b - dgid oo 900 o otd] oo g ST 3 g WIS g0y b33 9 Ty2mo 55 (¥
oundc (Pl b —aigd oo woo e (ol Wloxi g BUAI 51 g 0l (o0 o L8 g 1y20 o (F
o el s ploil ol Culs ) S (gly 9 9l 5 ceclbl wad 4 1) 395 (o, g ey Wiglis (o b s’ Wby L) o 55 )51 -V
Sl (5T S0k s 3 ST oIS play 9 w2160 55 s 3 1y g3 Ol
(oW1 3 al) W) - cags (¥ (5553 H W1 ) ~esls 0
(a1 1 al) 5ml) - oot (F G535 o 1 o) —cags, (F
febls walgs o 50 ol glp Pl as jlaiw! 610 g o Gradu il 4 Jbcaws -V
Jlio wiglas ol 4 (o) 9 (Fndi Cgnzmo Hlus (F Sy 50 (oM sl 55 %0l 2 3 SR NE> G429 Capili ()
ol 31 Sluodwl g wiglas b 5L5 g 31y Bl (55l0b (F 1955 s 3 212y 9 AT g Conwyd (6 oS oo (F
ol woygild (e Sy 5o (S ©lyed g wilgd S by )l plas VY
Wslariuwl il y coded 4 - JWoS glaaly (ydgem —bjLs (yd90i &by ()
S el (3991 0ud 0 — () jud (Sl p1 &S po — ]l (gL I (s )5 (Y
las Caws 4 g0l planil — LBl (gl 2 (g5 lwadonn ) —odti (51yg Sz & Sliiel (Y
Solng sl b alslio — i &y slaciel - ju3 g Lad 4y sliel (F
S8 Bua 1y JLF0 595 culdy g &3 T ole Solzw g w3 ylaS oo G2 oly 30 pud ST i b a5 5T 4 o Jlaso glas ol slael -V
fadloe o 31 (Slo ads p aT plas g Cowl (ol o pIaS Sl didd o0
(i1 sl o U35 ol Cnid 15551 15507 (01 b1 T 1 9 - oS il 0
(2315 saidl ey 57 g Lol 19551 5 1387 801 T o 31 9D - adl s (¥
(olas (a5 G dbl 35 TS5 Ll Sz Joz § 0557 3 06 055 U - S 58T (¥
(obas (o o bl 38 TS5 Ll Sz Joz § 0557 3 06 155 U - ! b (F
$39u ol (ylusil gargi U ol p3¥ (5,505 (b5 az «aidsdS 51 (Slowliy p1 ogdle -VF
=izl gag -l Goi ()2 —395 anle MO
st B> (2 -0 30 G (3] e - 395 anle OMEI(Y
bl g — ) Baio (ol —oLS (3,55 5185 eenas (F
ot Bsie ol -0 p0 Baie (gl —oLS (49 55 ST 2 s (F




w225 Pgle sl jT 09,8 T Ak Jlw (5wl jow (g0 )T

Sl 5T 230 Al 5 (5T IS 3 sl 39,500 sler 58 €U yd (305505332 31 550 S slet 9598 oS -V
(o ol e 31 81 35 1EE8) — ool o, T (ke 3 aolr (gl G330 ()
€. ol s 31 15 ) — 0 silaies 3 5 i slyine ST (Y
o 301 ) 95 Bl e (REI3D — oSl o ored 5 amalr sl G330 (F
€ 31 J| 55205 G (K00 (5AG) -0 gailaies 5 g M glgazms » ousT (F

THICS S~ PR L) ad S

Part A: Vocabulary and Grammar
Directions: Questions 76- 87 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

76- Helen is ............... good English teacher that I’'m sure you will be happy with her.
1) So 2)Soa 3) very 4) Such a
77- Our neighbor’s big dog is very ............... and my little girl is usually ............... when she sees it.
1) frightened- frightened 2) frightened- frightening
3) frightening- frightening 4) frightening- frightened
78- The new high- quality models of sunglasses are going to ............... in our factory next year.
1) be produced 2) be producing 3) produced 4) produce
79- Unfortunately, | forgot to email the photographs ............... at the birthday party to my friends.
1) taken 2) which took 3) were taken 4) that | took them
80- Reza is sick and the doctor has advised him to ............... the amount of fat in his food.
1) ignore 2) reduce 3) prepare 4) destroy
81- This type of plant, which is rare here, is ............... found in the mountains of South America.
1) briefly 2) formally 3) commonly 4) efficently
82- Mr. Alavi is interested in Asian countries, so he went on a long journey of ............... into China
1) prediction 2) destination 3) exploration 4) communication
83- Our plans are very................ so we can meet you either on Wednesday or on Thursday.
1) private 2) flexible 3) actual 4) immediate
84- Muslims always ............... their shoes before entering a mosque or other holy places.
1) take off 2) turn off 3) make up 4) call up
85- In my opinion, the climbing of Mount Everest was an excellent example of human ............... .
1) device 2) gesture 3) mystery 4) endeavor
86- Both Mr. and Mrs. Karimi are worried about their son because he does not take life................
1) regularly 2) seriously 3) emotionally 4) comfortably
87- She was not in a good mood, so she welcomed her guests with a(n) ............... smile on her face.
1) brilliant 2) primary 3) artificial 4) effective

Part B: Cloze Test
Directions: Questions 88- 92 are related to the following passage. Read the passage and decide which

choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The earliest known people of North America were Indians and Eskimos. They Probably ...88... to
North America from Asia by way of Alaska, over a long ...89... of time. They spread to the east and
south throughout North America. The Eskimos and many of the Indian tribes lived in undeveloped
ways, ...90... stone weapons and tools.
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Many were wandering hunters in the ...91... and forests. The Indians of Mexico and Central
America had an advanced civilization, with fine buildings, art, and systems of law and ...92... The
greatest of the ancient Indian people, among them the Mayas and Aztecs, built beautiful stone
temples and palaces.

88- 1) migrated 2) increased 3) stretched 4) survived
89- 1) phase 2) pattern 3) period 4) process

90- 1) used 2) using 3) for using 4) they used
91- 1) communities 2) planets 3) towers 4) plains

92- 1) document 2) department 3) environment 4) government

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer

sheet.

® Passage I:

We can look at nature in the same way that we look at a complicated machine, to see how all the
parts fit together. Every living has its place in nature, and ecology is the study of how things live in
relation to their surroundings. It is a relatively new science and is of great importance today. It helps
us understand how plants and animals depend on each other and their surroundings in order to
survive. Ecology also helps us work toward saving animals and plants from extinction and solving the
problems caused by pollution. Plants and animals can be divided into different groups, depending on
their ecological function. Plants capture the Sun’s light energy and use it to produce new growth, so
they are called producers; animals consume plants and other animals, so they are called consumers.
All the plants and animals that live in one area and feed off each other make up a community. The
relationship between the plants and animals in a community is called a food web; energy passes
through the community via these food webs.
93- Which of the following is the best title for the passage?

1) Living Animals in Nature 2) Saving Animals and Plants

3) Ecology and Food Webs 4) Nature: A Complicated Machine
94- Which of the following is NOT true about ecology?

1) It studies the relationship between plans, animals and the environment.

2) It divides plants and animals into different groups.

3) Itis a rather new field of study.

4) It is a very important science.
95- What does the word “they” in line 9 refer to?

1) Plants 2) Animals 3) Producers 4) Both animals and plants
96- Which of the following can be concluded from the passage?

1) The main ecological function of a food web is to capture the Sun’s light.

2) The main problem made by pollution is the extinction of plants and animals.

3) All plants that produce food for human beings and animals form a community.

4) In order to have a healthy environment, both producers and consumers are needed.

m Passage ll:

Robert Boyle (1627-1691) lived at a time when many young men in England were becoming
interested in science and in making scientific experiments. He himself was a great scientist in
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chemistry. His life was spent in scientific research and he made a number of important discoveries. He
was one of a group of learned men who often met together to discuss new developments and
discoveries in science; this “invisible college” , as it was called, eventually became the Royal Society in
1660.

Boyle was born in Ireland. When he was eight years old, he went to school at Eton, in England, and
three years later he set off to travel in Europe with his French private teacher. While he was in Italy,
he studied the work of the great scientist Galileo. Having returned home, he began carrying out his
own experiments. He and his assistant, the inventor Robert Hooke, made an air-pump which enabled
him to perform experiments with air and discover, for example, that air is essential for breathing,for
burning, and for the transmission of sound.

Boyle believed that all matter was made up of what he called “primary particles” and thus he
anticipated modern atomic theories.

97- Which of the following is NOT true about Boyle?
1) He somehow predicted the emergence of modern atomic theories.
2) He devoted his life to studying and doing scientific experiments.
3) He met the great scientist Galileo when he was in Europe
4) He went to Europe when he was only 11 years old.
98- What does the “invisible college” refer to in the first paragraph?
1) Boyle’s regular meetings with other scientists.
2) The Royal Society that Boyle established himself.
3) Secret discussions on new developments in science.
4) The building Where Boyle did his scientific experiments.
99- Which of the following countries is NOT mentioned in the passage?
1) ltaly 2) England 3) Ireland 4) France
100- Which of the following can be concluded from the passage?
1) Boyle was most probably born in a family with a good financial status.
2) The air- pump enabled Boyle to develop his theory of primary particles.
3) It was Robert Hooke who helped Boyle make most of his discoveries.
4) While traveling in Europe, Boyle and Hooke made an air- pump.




